

CONTACT:

PHONE:

904-280-8687

1219 W Lake St Chicago, IL 60607 United States

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER 1006652 REVISION: 4 Page 1 of 10

PURCHASING AGENT: ORDER DATE: 11-MAR-2021

PHONE: EMAIL: FAX:

olimpia.lonsdale@goaa.org

FREIGHT TERMS: Ship To: Greater Orlando AviationAuth

Included HBJ Warehouse
7401 Dowden Rd
F.O.B.: Orlando, FL 32827

Destination Oriando, FL 32827

FAX: SHIP VIA: Bill To: Greater Orlando Aviation Authority
312-829-8249 Best Way Construction Finance

Construction Finance (CFaccountspayable@goaa.org)

VENDOR NO.:

14936

Payment Terms

N30

Payment Terms

5855 Cargo Rd. Bldg 854 Annex 2nd Floor

Orlando, FL 32827-4348

Ref: quotes 180264.5 and 180265.4 dated 12/21/2020, submitted by Joe Agati

DO NOT SHIP

The delivery date listed below is estimated. Coordinate/confirm delivery date and location with Rita Watson (407--825-3109) prior to shipment.

Delivery/Warehouse Contact: Howard White (407-825-2691) or Marcio Cicarini (407-825-2150) Warehouse Operating Hours: Monday-Friday 7:30 AM - 3:30 PM. Closed for lunch: 12:00-12:30

Mark all boxes/crates/invoices/packing slips,, etc...: PO: 1006652 / WS-145

This expenditure was recommended for approval by the Construction Committee on 2/4/2020, agenda item 11. The Aviation Authority Board approved the recommendation on 2/19/2020, new business agenda item C. Usage of supplemental Contingency funds was approved by the Construction Committee on 3/2/2021 Item 20. Project #: WS-145/TBD37

Pricing, Terms and Conditions in accordance with TIPS Contract # 200301, expiring 5/31/2023.

This Purchase order may include the same item on multiple lines. The division is for GOAA accounting purposes only.

GOAA ordered additional yardiage of upholstery fabric for attic stock. Vendor must ship all leftover fabric(s) to GOAA with the last shipment of furniture.

Revision 1: created to add lines 27 and 28 for additional handling. OL 3/29/22

Revision 2: created to add Lines 29 and 30 for additional items. OL 10/24/22

Revision 3: created to return Line 28 to CF per Wendy Morning. OL 1/27/23

Revision 4: added Line 31 as shown after correction by CF. OL 1/31/23

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
1	NCF01480	15-OCT-2021	4	Each	\$2,192.09	\$8,768.36
	Bench, Gee, Anodized Aluminum					
	Legs, Upholstery Stripes to Run					
	Vertically, Agati #GEE-OTT-					
	CUSTOM, Element #B54,					
	COM:Upholstery: Big Stripe by					
	Paul Smith, Spring 466174-002,					
	Repeat: V: 92.5" H: 55", by					
	Maharam; Element #U52					

Ref: P1 Landside

PURCHASE ORDER TOTAL \$1,239,041.06

Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

- 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



Supplier:

AGATI Inc 1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER							
PURCHASE ORDER NUMBER 1006652	REVISION: 4	Page 2 of 10					
PURCHASING AGENT:		ORDER DATE:					
Lonsdale, Olimpia		11-MAR-2021					
PHONE:	EMAIL: olimpia.lonsdale@goaa.org	FAX:					

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
2	NCF01481	15-OCT-2021	3	Each	\$3,965.03	\$11,895.09
	Bench, Gee, Side Table Lamin Art Natural Teak 3051-VT, Top: Corian Glacier White, Electrical Outlets in Brushed Stainless, Agati #GEE-OTT-TBL-CUSTOM, Element #B55, COM:Upholstery: Esprit Ocean Gray, by Nassimi; Element #U58	13-001-2021		Lacii	ψ3,703.03	ψ11,023.02
	Ref: P1 Landside					
3	NCF01482 Bench, Gee, Aluminum Legs, Side Table Lamin Art Natural Teak 3051-VT, Top: Corian Glacier White, Outlets in Brushed Stainless, Agati #GEE-OTT-TBL-CUSTOM, Element #B55X, COM: Upholstery: Esprit Ocean Gray, by Nassimi; Element #U58		3	Each	\$3,965.03	\$11,895.09
	Ref: P1X Landside					
4	NCF01483 Bench, Gee, Side Table Lamin Art Natural Teak 3051-VT, Top Finish: Corian Glacier White, Powered Side, Outlets in Brushed Stainless, Agati #GEE-OTT-TBL-CUSTOM, Element #B56, COM:Upholstery: Esprit Teal, by Nassimi; Element #U59	15-OCT-2021	8	Each	\$3,965.03	\$31,720.24
	Ref: P1 Landside					

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.

 2. The prices, terms and conditions of this PO may not be modified.

 3. Purchase Order number must correct on all packing lists acceptance in the policy of the policy lists acceptance.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER 1006652	REVISION: 4	Page 3 of 10
PURCHASING AGENT: Lonsdale, Olimpia		ORDER DATE: 11-MAR-2021

PHONE: FAX: olimpia.lonsdale@goaa.org

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
5	NCF01484	15-OCT-2021	8	Each	\$3,965.03	\$31,720.24
	Bench, Gee, Side Table Lamin Art					
	Natural Teak 3051-VT, Top:					
	Corian Glacier White, Powered					
	Side, Outlets in Brushed Stainless,					
	Agati #GEE-OTT-TBL-CUSTOM,					
	Element #B57, COM: Upholstery:					
	Esprit Regimental Blue, by					
	Nassimi; Element #U60					

Ref: P1 Landside

6	NCF01485	15-OCT-2021	4	Each	\$3,965.03	\$15,860.12
	Bench, Gee, Side Table Lamin Art					
	Natural Teak 3051-VT, Top:					
	Corian Glacier White, Outlets in					
	Brushed Stainless, Agati #GEE-					
	OTT-TBL-CUSTOM, Element					
	#B58, COM: Upholstery: Scribble					
	XL, Azur 983-54, by HBF Textiles;					
	Element #U53					

Ref: P1 Landside

7	NCF01486	15-OCT-2021	10	Each	\$3,965.03	\$39,650.30
	Bench, Gee, Powered Side Table,					
	Stripes to Run Vertically, Table					
	Side: Laminart Natural Teak 3051-					
	VT Finish, Top: Corian Glacier,					
	Agati #GEE-OTT-TBL-CUSTOM,					
	Element #B59, COM: Upholstery:					
	Big Stripe, Spring, by Maharam;					
	Element #U52					

Ref: P1 Airside

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER 1006652	REVISION:	Page 4 of 10
PURCHASING AGENT: Lonsdale, Olimpia		ORDER DATE: 11-MAR-2021
PHONE:	EMAIL:	FAX:

olimpia.lonsdale@goaa.org

Item / Description Line Due Date Quantity UOM Unit Price Extended NCF01488 15-OCT-2021 Each \$4,362.74 \$26,176.44 6 Seating, Gee, 2 Seats Ganged, **Powered Table, Table Base: Laminart Natural Teak, Top:** Corian Glacier White, by Agati, Element #L51, COM: Seat/Arms: Esprit Ocean Gray by Nassimi; Element #U58. Back: Vital, Tidal by Luum; Element #U56

Ref: P1 Airside

9	NCF01488	15-OCT-2021	8	Each	\$4,362.74	\$34,901.92
	Seating, Gee, 2 Seats Ganged,					
	Powered Table, Table Base:					
	Laminart Natural Teak, Top:					
	Corian Glacier White, by Agati,					
	Element #L51, COM: Seat/Arms:					
	Esprit Ocean Gray by Nassimi;					
	Element #U58. Back: Vital, Tidal					
	by Luum; Element #U56					

Ref: P1 Landside

10	NCF01490	15-OCT-2021	2	Each	\$41,495.25	\$82,990.50
	Seating, Gee, Curved w/Powered					
	Side, Base: Laminart Natural Teak,					
	Top: Corian Glacier White, by					
	Agati, Element #L52, COM: Seat:					
	Esprit Ocean Gray by Nassimi;					
	Element #U58. Back: Vital, Tidal					
	4045-11 by Luum Textile; Element					
	#U56					

Ref: P1 Landside

\$1,239,041.06 PURCHASE ORDER TOTAL

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER REVISION: Page 5 of 10 1006652 PURCHASING AGENT: ORDER DATE: Lonsdale, Olimpia 11-MAR-2021

PHONE: **EMAIL:** olimpia.lonsdale@goaa.org

	,					
Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
11	NCF01491	15-OCT-2021	8	Each	\$6,641.70	\$53,133.60
	Seating, Gee, L-Shaped, Armless,					
	Powered Side Table, Base:					
	Laminart Natural Teak, Top:					
	Corian Glacier White, by Agati,					
	Element #L53X, COM: Seat: Esprit					
	Ocean Gray by Nassimi; Element					
	#U58. Back: Vital, Tidal by Luum					
	Textile; Element #U56					

Ref: P1 Airside

12	NCF01491	15-OCT-2021	2	Each	\$6,641.70	\$13,283.40
	Seating, Gee, L-Shaped, Armless,					
	Powered Side Table, Base:					
	Laminart Natural Teak, Top:					
	Corian Glacier White, by Agati,					
	Element #L53X, COM: Seat: Esprit					
	Ocean Gray by Nassimi; Element					
	#U58. Back: Vital, Tidal by Luum					
	Textile; Element #U56					

Ref: P1 Landside

13	NCF01491	15-OCT-2021	2	Each	\$6,641.70	\$13,283.40
	Seating, Gee, L-Shaped, Armless,					
	Powered Side Table, Base:					
	Laminart Natural Teak, Top:					
	Corian Glacier White, by Agati,					
	Element #L53X, COM: Seat: Esprit					
	Ocean Gray by Nassimi; Element					
	#U58. Back: Vital, Tidal by Luum					
	Textile; Element #U56					

Ref: P1X Landside

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER REVISION: Page 6 of 10 1006652 PURCHASING AGENT: ORDER DATE: Lonsdale, Olimpia 11-MAR-2021 PHONE: **EMAIL:**

olimpia.lonsdale@goaa.org

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
14	NCF01493	15-OCT-2021	2	Each	\$9,794.32	\$19,588.64
	Seating, Gee, Curved with Side					
	Table, Left Facing, Base: Laminart					
	Natural Teak, Top: Corian Glacier					
	White, by Agati, Element #L56,					
	COM: Seat: Esprit Ocean Gray by					
	Nassimi, Element #U58. Back:					
	Vital, Tidal by Luum Textile;					
	Element #U56					

Ref: P1 Landside

15	NCF01494	15-OCT-2021	2	Each	\$9,794.32	\$19,588.64
	Seating, Gee, Curved with Side					
	Table, Right Facing, Base:					
	Laminart Natural Teak, Top:					
	Corian Glacier White, by Agati;					
	Element #L57, COM: Seat: Esprit					
	Ocean Gray by Nassimi, Element					
	#U58. Back: Vital, Tidal by Luum					
	Textile; Element #U56					

Ref: P1 Landside

16	NCF01495	15-OCT-2021	25	Each	\$18,982.37	\$474,559.25
	Table, Power Bar, Charging					
	Station, 240" L, Power Outlets on					
	Metal Edging, Top: Cambria White					
	Cliff, Edge: Power Models on One					
	Side Facing the Public, Laminate:					
	Laminart Natural Teak, Power					
	Outlets, by Agati, Element #T50,					
	COM: None					

Ref: P1 Airside

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER PURCHASE ORDER NUMBER REVISION: Page 7 of 10

11-MAR-2021

1006652 PURCHASING AGENT: ORDER DATE: Lonsdale, Olimpia

PHONE: **EMAIL:**

olimpia.lonsdale@goaa.org

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
17	NCF01496	15-OCT-2021	7	Each	\$3,545.93	\$24,821.51
	Table, Low Media Station, 4' 6"					
	Dia, Base Finish: Laminart Natural					
	Teak, Edge: Rehau C600004, Top:					
	Wilsonart Bluberry Taffy Y0355-60					
	Matte, Electrical Outlets and					
	Covers in Brushed Stainless Finish,					
	by Agati, Element #T54, COM:					
	None					

Ref: P1 Airside

18	NCF01497	15-OCT-2021	12	Each	\$17,343.28	\$208,119.36
	Table, Power Bar, Charging					
	Station, 96" L, Power Outlets on					
	Metal Edging, Top: Cambria White					
	Cliff, Edge: Power Models on Both					
	Sides Facing the Public, Laminate:					
	Laminart Natural Teak, Power					
	Outlets, by Agati, Element #T55,					
	COM: None					

Ref: P1 Airside

19	NCF01489	15-OCT-2021	2	Each	\$1,016.09	\$2,032.18
	Seating, Gee, Seat, No Table,					
	Element #L51AS, ***ATTIC					
	STOCK***, Agati #GEE-STG-					
	2001-ATS, COM: Upholstery: Seat					
	and Arms: Esprit Ocean Gray by					
	Nassimi; Element #U58. Back:					
	Vital, Tidal 4045-11 by Luum					
	Textile; Element #U56					

Ref: P1 Airside

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER REVISION: Page 8 of 10 1006652 PURCHASING AGENT: ORDER DATE: Lonsdale, Olimpia 11-MAR-2021 PHONE: **EMAIL:**

olimpia.lonsdale@goaa.org

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
20	NCF01489	15-OCT-2021	4	Each	\$1,016.09	\$4,064.36
	Seating, Gee, Seat, No Table,					
	Element #L51AS, ***ATTIC					
	STOCK***, Agati #GEE-STG-					
	2001-ATS, COM: Upholstery: Seat					
	and Arms: Esprit Ocean Gray by					
	Nassimi; Element #U58. Back:					
	Vital, Tidal 4045-11 by Luum					
	Textile; Element #U56					

Ref: P1 Landside

21	NCF01492	15-OCT-2021	4	Each	\$687.29	\$2,749.16
	Seating, Gee, Seat, No Table,					
	Element #L53AS, ***ATTIC					
	STOCK***, Agati #GEE-STG-					
	2101-ATS, COM: Upholstery: Seat					
	and Arms: Esprit Ocean Gray by					
	Nassimi; Element #U58. Back:					
	Vital, Tidal 4045-11 by Luum					
	Textile; Element #U57					

Ref: P1 Airside

22	NCF01492	15-OCT-2021	4	Each	\$687.29	\$2,749.16
	Seating, Gee, Seat, No Table,					
	Element #L53AS, ***ATTIC					
	STOCK***, Agati #GEE-STG-					
	2101-ATS, COM: Upholstery: Seat					
	and Arms: Esprit Ocean Gray by					
	Nassimi; Element #U58. Back:					
	Vital, Tidal 4045-11 by Luum					
	Textile; Element #U57					

Ref: P1 Landside

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



Supplier:

AGATI Inc 1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER

PURCHASE ORDER NUMBER REVISION: Page 9 of 10 1006652 PURCHASING AGENT: ORDER DATE: Lonsdale, Olimpia 11-MAR-2021 PHONE: EMAIL: olimpia.lonsdale@goaa.org

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
23	NCF01487 Bench, Gee, Powered Side Table, Stripes to Run Vertically, Table Side: Laminart Natural Teak 3051-VT Finish, No Table Top, Agati #GEE-OTT-TBL-CUSTOM-ATS, Element #B59AS, *ATTIC STOCK* COM: Upholstery: Big Stripe, by Maharam; Element #U52		2	Each	\$3,381.00	\$6,762.00

Ref: P1 Airside

24 SCF00147	15-OCT-2021	24,292.89	US	\$1.00	\$24,292.89
Furniture Installation Services			Dollar		

Ref: P1 Landside

25	SCF00147	15-OCT-2021	57,500	US	\$1.00	\$57,500.00
	Furniture Installation Services			Dollar		

Ref: P1 Airside

2	26	SCF00147	15-OCT-2021	2,207.11	US	\$1.00	\$2,207.11
		Furniture Installation Services		,	Dollar		,

Ref: P1X Landside

27	SCF00226	30-APR-2022	5,671.62	US	\$1.00	\$5,671.62
	Service, Handling (Preparation to			Dollar		
	Ship)					

28	SCF00226	30-APR-2022	0	US	\$1.00	\$0.00
	Service, Handling (Preparation to			Dollar		
	Shin)					

This line CANCELLED on 27-JAN-2023 Original quantity ordered: 515.3771 Quantity CANCELLED: 515.3771

PURCHASE ORDER TOTAL \$1,239,041.06

Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

- 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.
- 2. The prices, terms and conditions of this PO may not be modified.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE



Supplier:

AGATI Inc 1219 W Lake St Chicago, IL 60607 **United States**

STANDARD PURCHASE ORDER						
PURCHASE ORDER NUMBER 1006652	REVISION: 4	Page 10 of 10				
PURCHASING AGENT: Lonsdale, Olimpia		ORDER DATE: 11-MAR-2021				
PHONE:	EMAIL: olimpia.lonsdale@goaa.org	FAX:				

Line	Item / Description	Due Date	Quantity	UOM	Unit Price	Extended
29	NCF01926 Connectrac Express Kit, Clear Anodized Extruded Aluminum, 5.5 inches wide, by Agati	30-NOV-2022	1	Each	\$7,569.50	\$7,569.50
30	NCF01927 Power Bar Electric Plate Cover Assembly, by Agati	30-NOV-2022	20	Each	\$48.58	\$971.60
31	SCF00226 Service, Handling (Preparation to Ship)	30-SEP-2023	515.38	US Dollar	\$1.00	\$515.38

PURCHASE ORDER TOTAL \$1,239,041.06

- Purchase Order Number must appear on all packing lists, cartons, invoice and correspondence.

 1. Unless otherwise stated above, acceptance of this PO includes acceptance of GOAA's terms and conditions as found at orlandoairports.net/airport-business, under Purchasing.

 2. The prices, terms and conditions of this PO may not be modified.

 3. Purchase Order number must correct on all packing lists acceptance in the policy of the policy lists acceptance.
- 3. Purchase Order number must appear on all packing lists, cartons, invoices and other correspondence.
- 4. Invoices must be submitted only for items and services accepted by GOAA.
- 5. Invoices must be sent to the address listed in the Bill To box above.
- 6. GOAA is exempt from all State and Federal Taxes (Florida Tax Exempt Certificate No. 85-8012668935C-5).

SIGNATURE IMAGE